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Seminar task

� Design of masonry storage house
� Structural analysis, drawings



2nd homework

� Preliminary design of ceilings using tables

� Analysis of the slabs according to Eurocode

� Draw a detail of slab-wall joint



Preliminary design

� Combined slabs



Preliminary design

� 3 different slabs

Span B

Span A

Span A Load ARoof

Load BBasement

Load BTypical floor



Preliminary design

� Calculation of loadings – self-weight not 
included in this stage

� Slab depth estimation
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Preliminary design

� Design of the slabs using tables
� Length and spacing of girders
� Depth of the slab 
� Type of brick inserts



Analysis of the slabs
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� Eurocode 2: mEd ≤ mRd

� Simply supported slabs:

Loading

Capacity

Total design load (incl. self-weight) Span of the slab

Cross-sectional area 
of reinforcement per 

1 m of the slab

Design strength
of reinforcement

Lever arm of internal
forces



Analysis of the slabs

Reinforcement 
- see table
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Analysis of the slabs
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Slab-wall joint (typical floor)

+ Dimensions

+ Annotate all the
elements

- Do not use internal
insulation

! Collar min. 200 mm



Advice for calculations

� Use N, mm and MPa units and you will not 
have any problems with the units anymore ☺

� The only problem is with moments – you get
moments in Nmm. This unit is not used in 
practice => divide by 1,000,000 to get kNm



Thank you for your attention

Any questions?


